
3

1

4

5

6

2

7 8

ITEM 
NO. PART NUMBER DESCRIPTION QTY.

1 H-58-066-A Lake 04, wooden base, BU15580401 1

  H-58-062-A Lake 04, wooden legs bottom, BU15580601 1

  H-58-064-A Lake 04, wooden side top, BU15580501 1

2 H-58-067-A Lake 04 laminate shell and foam assembly 1

  H-58-065-SK Lake 04 foam, four parts: ba225801, 
ba225802, ba225803, ba225804 1

  H-58-006-T Lake chair/bench upholstred shell. 
ba155800 1

  Serrated T-Nut 
M6x9mm Serrated T-nut M6x9mm, ba952703 4

3 Plastic Spacer 
Ø20x13

Ackurat artnr RU201310.2S (Black), 
ba765801 2

4 Star Washer 
M8xØ15 Star washer M8, Zn, DIN 6798, ba950905 4

5 Cylinder head 
bolt M6x90

Cylinder Head Bolt M6x80mm, yZn 
Hexagon NV4, ba950309 2

6 Cylinder head 
bolt M6x80

Cylinder Head Bolt M6x80mm, yZn 
Hexagon NV4, ba950308 2

7 H-58-065-S Lake 04, X-bracket steel, ba305821 1

8 Flat Head Screw 
Ø4.0x20 Flat Head Screw 4,0x20mm, Zn, ba950112 8

9 Glide Ø20mm Glide Ø20mm, White Plastic, ba760033 4

Description

2017-11-152021-06-17

Weight in grams:
mm

HELLAND MØBLER AS 
P.O Box 10, NO-6259 Stordal

Approved by:

Date approved: Date created:

Drawn by: Scale. Units

Material:

Part number/name:

Last saved by:

Last saved:

Tolerance:

Sheet format/size

THIS DRAWING IS THE PROPERTY OF HELLAND AS 
AND MUST NOT BE COPYED OR USED

WITHOUT OUR APPROVAL.

H-58-061-A

DIMENSIONS IN MILLIMETERS
EUROPEIAN PROJECTION

Danel

2021-06-171:4tafoyv/DJ

Leine.D +/- 0,3 mm

Lake 04 complete assembly, 
HB580716

A3
UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS

Standard 
Config name:Revision


	Lake 04 - Wooden legs
	Drawing View1
	Drawing View2


